MDMA4U — Sample Test 4 ~ One Variable Analysis — November 13, 2023

Name: //ﬂ DAJHOWI

Knowledge o Application &= Communication? Thinking &l Total Percent
26 28 21 18 93 %
Knowledge
1. Identify the following items on this box and whisker graph. /6
Min: | (p Max: | [
e B —
| e L Q| @ Q| 1Y
Median: 10O IQR: ( P
2. Use the z-score table to fill in the probabilities of each z-score in the last column, /5
(@) P(z<1.0) O ?LH’J)
(b) P(z <-0.75) 0, 2.0 Cfi
(©  P(z<0.56) 6. 71275
() P(z>0.56) 0. 2977 1-0.7123%
()  P(z>-0.75andz < 0.56) 0. - B - L le
qgs 7 =O?7'23-0.22(4&
3. Shade in the area on the normal distribution indicated by the probability. /5
(a} P(z > 0.5) (b)P(z<-10rz>1) (c)P(z>-2andz< 1)
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4. Fillin the boxes to fully label the normal distribution. /10

i

/

215 % 13,5 % 74 % 3Lf % 13,S% 225%
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- Application

5. What are the formulas found in the indicated cells of this spreadsheet? /11
A B C D E F G H | J K L M

1 The Data: The Analysis:

2 4 7 Mean| 4.08 | Minimum| 1 Q3| 5.75 X| 5
3 3 4 3 Standard Deviation| 1.98 a1 Maximum| 8 Iscore; 0.46
4 5 8 Maode 3 Median] 3.5 IQR| 2.75 P(x<5)| 0.6789
2z “averasg (A2 D¢) K2 ’q',uacr‘H/e.(’,X(;CAZIDq,B)

G3 =5+ol€\/.{p(A2:DLf) K3 |2 max (A2:DY)

64 = mode (A2:DY4) K4|- K2 -T3

2= pin (A2 DY) M3 )= (M2 -G2)/63

P17 quachle. exC (42,04, /) ML porm.dist (M2 67 63 true)
14 = mediant (A2: DY)

6. Calculate the standard deviation of the following values. /5
Mean Standard Deviation Pieces Standard Deviation
¥ — % _ 2
f=§9£ X X—x (xl x) T(E — x)?
n 11 Y } o =
n
=990 13 2 4
© 14 | l = |42
s 16 ull | v
17 = Z b{ = ' —7
19 -4 b _ ~
E=90 zng’ “zf(a('llsg
7. Calculate the standard deviation of the following frequency values. /7
Mean Standard Deviation Pieces Standard Deviation
f=§]x><f X freq xXf | T-x | (@-x)? | f(F—x)? _ BfGE-n2
f 8 3 24 2 4 12 A B
9 8 7L ! l g
- 210 -
—_ - | =1l He
o 11 6 Lb ! A \J =
| 12 4 “4& ~Z Y 1o 5
10 21 %210 47
| 1 = L1214

8. If the mean height of a newborn kitten is 12 cm with a standard deviation of 1.5 cm, then what percentage of

kittens are born smaller than 10 cm?
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From z2-Scere. table:
P(x<io) -0.061%
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ﬂ Communication
He m:gt wn't nnywmsf

9. Write the terms indicated in the last columns. /T Na an gyped a0 /2
o
(a) Measures of spread. o i Q £
(b) Measure of central tendency. MNLAaN WD{AQM W0 0&
10. Classify each histogram’s shape. /5
e ] — — ]

Movend [ Rig bt Skctw | - Skape! | LhF Skery | Unidorm
U

- 144
LDV = Treov &

11. Fill in the final column with the term or number indicated. /10
(a) The standard deviation for: X ~ N(34, 25) )( A N(k‘) U—l) 5
(b) The distribution shape where mode > median > mean. LQf‘f' S kb(/\/
(¢c) Adistribution shape where mode = median = mean. m oUMN y[ [ ;;_';:;’ ":Au%
(d) Adistribution shape with two modes. Mg' /L‘i/p«(’ o’/ e & Mo o [
(e) The measure of spread that goes with a median. ] Q 4
(f) The number of standard deviations something is from the mean. 2-SCs rf/
(8) A measure of how tightly grouped data is around the mean. g
(h) A measure of central tendency not effected by outliers. ot 0’[f Q /L [ ﬁ/‘:}? r%e a/-]
(i) The term for the most frequently occurring value. Wil D{Q/
()  The top percentile on the SAT test (or any test, for that matter) 7 7 -/—A
12. Define and explain the importance (?f the term “Normal Distribution”. /4 :
The. normad udrbution. a..a. shape.. commsndel. fumel o ons. yerible
olacta, M. hoa. s, f. chariterahis. mcudbint (D5 ymma/'f’ﬂ/// abont Fhe o
@.bell shape ). standanel %.of dalafo ﬁ? st ol o G S Wt s
ng. ISP 267). K. immpridan @ 0.7 wvtf?/ s alonos T wmivers of P re4en @
2 manasr o Lanch wiaomd,). bial .054’(4 ly.-bosavoniablora.. —;f /wd bt o prtea,
itight. of obuaa, (7 bert. redatls. “Becauae. i3 pooba byl Fiea (7). 20 s0...
Wcijl, sit w&af/‘/ 5 b (Baa uase. ‘H%/t o sk St predicthons a 6.%#

a normally distnbutce populetion ety Hhe wsar 4l



g[][l Thinking \

13. Draw a box and whisker graph for t%l?s data,

Position, L 2 5

3
value: 65 8 9
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14. The weights of babies born at Prince Louis Hospital last year averaged 3.0 kg with a standard deviation of 0.2

kg. If there were 545 babies born at the hospital last year, how many weighed less than 3.3 kg?
Write down any formulas you use. Be careful to use titles,

C\I'VQM valww

ESCore
X =73,0 7 = x—X
Toor = 2,373
po *3"
X =733
02
n = SYyg S A

/6
Fomtubley  Numler of babley
Prxesz) 2 S4YSx0,9337

2049332 * 50¢,592|
= $09

e §'07 ,,f? the babuy SA.UTA(,O'/
Mrdﬁ losg Farar Z"ij'

15. The weights of Florida's oranges are normally distributed. 84% of the crop weighs more than 152 grams and
16% weigh more than 200 g. What is the mean and standard deviation of the crop?
Write down any formulas you use. Be careful to use titles.

Eﬁ MR‘{'?M I

— o —

Plx >152) =044
s, P(xeis2)= 010
me‘hb[ﬂ) &= -I'O

Ejuw‘ﬁ/tr% 2
P(x>200)= p.1l,

s0, P(x <200) = . 84
‘p?bm'b‘{’(ﬂ-,?’—/-f)

%; X"T(- Z = X "5(-'
o o—

~102 152~ % 1o = 200~%
i o

K - !52 ‘_’X—- 0”‘: 200—;

G lo

g = Zoo-x

/7
sub 1o, slve for 5
_ﬂ"—'*_“"""———---__.

-IS7+X = 200 -%

2X 2352
x =170
Sub X =17k i &n 2
s e
0~ = 200 -(176)
=Y

o The wuan 1s 17
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